Routine Angles and Shapes Practice #2
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g4°

Angle £ZAOB = 62°
Angle ZABO = ......ccoco v,
Reasons = ......ccocoiiii

The distance 04 is 6 m,
the distance 4B is 5 m ! ¥

and the distance 0C is 9 m.

The distance CD = ..........cccoeveviveiiinnn,




Answers: Routine Angles and Shapes Practice #2

Angle a = 84°

Reason = Vertically opposite then corresponding on parallel |yt

Angle b = 71°

25° + 84° = 109° which corresponds to the angle beside b

180° — 109° = 71°, angles on a straight line

(or angles in a triangle = 180°, with vertically opposite giving 25° and 84° for others)

Angle £ZAOB = 62°

Angle ZABO = 59°

Reasons = ZAOB + ZABO + 4ZBAO = 180 (sum of angles in triangle) B

ZABO = £ZBAO (lIsoceles triangle as all radiuses are equal)

(180 — 62) + 2 = 59°

Angle d = 125°

Reasons = angles in hexagon add up to 720° (4 x 180°)

125° =720 -130—-110—-150-85—-120

4.
The distance 04 is 6 m, the distance 4B is 5 m and the distance 0C is 9 m. A
The distance CD = 7.5

TheratioOA: 0OC=6:9=1:1.5 Y

The ratio AB : CD is the same,soCD =5 x 1.5 p




